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SECTION 1: (50 MARKS)
the spaces provided.

Answer ALL the Questions i this section in
1. Without using a calculator, find x if:
1_ 8x-2+ 4+-3
x —,,§—:—2x5—3+4
(=D Wt =3
v (L)-2 = —
Hiang
-6+ A\ 5-3-
5+ X SN M /

= A e

X = 2 - - - - T /4'|

(3mks)

2. The exterior. angle of a regular polygon is equal to one third of the intetior angle. Calculate the
number of sides of the polygon. (3 mks)

e = F
Ink —- X M
+ 24 =182 - = =
1
%gc - (B2
X =135 - A%
n= 3o /
s
= % Sidat — — A1
3. Solve for x in the equation
9x+l +32x+1 - 36 (3 mkS)

7020 +3(3%) =26
gty —- - Ty

?J—'[-ij; Zé = = =

/»%y — ¢34 ]

4 —32
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ax—=/

At — 2 éﬁ
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" 4. Find all the integral values of x which satisfy the inequality (3 mks)
3(l+x)<5x——14<x+46
24300 2 8X— I

ay > 11 _
% > -7 M/
G —jup L% HPE
WY LGo
¥ L5 -~ - —mm My
gs L% A5
Infe gvad val v
q,wﬂwgéﬂw'hﬂ;."éﬁ
5. Simplify: $Xt6%=2 (3mks)

16x% -9 “
(#x-32) (2x+3) — — 7 M/

™ -3) (wt3) ~ - - M,

245

P2, TR AN

6. A rectangular floor of a room measures 5.4m long by 4.2m wide. The room is to be covered with
square tiles. Calculate the minimum number of tiles that can be used to cover the floor (4 mks)

L | 58| H20 o
3ﬂo£w* MDM#Q«: SitoX 3o
29| +o \ )
5‘ WE| 3 % B 6o g
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i ion.
7. Use the exchange rates below to answer this questio

Buying (Ksh) Selling (Ksh)
1 US dollar 105.00 122:?
1 UK Sterling pound (£) 145.20 .

hole amount of money
A tourist arrived in Kenya from Britain with 7800 UK (£). He convel(’ite(}lxﬂrllex the rest to US dollars.
t; Iggrrl an shillings. While in Kenya, he spent 70% of this money and chang ‘ (4 mks)
((Z)alcule);te the amount of money to the nearest dollar he received.

ALY
teroNus o —Sh. 1135460 - 7
fa5 F13%bo = kol .229%65 - — 1,

o 3298 = 222%GogL - - -
: (05'1{50

3% H-tig Jillowe — — 457

797

8. The point A (3, 2) is mapped onto AX(8; 4) under a translation U. Find the coordinates of the image
of B (7, 2) under the same translation. (3 mks)

=R Y - M,
YO D)

B) C’Q/i{:) — - /A,

9. Five men working for 8 hours a day take 2 days to cultivate an acre

of land. How many days would
four men working 10 hours a day at a double rate take to cultivate 3

acres of land? (3 mks)

M T W KD
s ST /g)/ |
A 1o 3 27 T |
X KLxz
Q[b‘df:— %X g4o>(?’ %l Xé / /

\
:BUC‘US — 4 ~A_

e /
=




(3 mks)

—cos(3x—50)° =0, find the value of x

10. Given that sin(2x—30)
-~ / o P (l .
a2 —ho+ 3v—50 = | D ~
S5%-36 =12 ]

O = J3O
K — 31)_D

lid spheres are 1200g and 32400g respectlvely If the surface area of the
(3 mks)

'11. The masses of two 51m11ar SO
smaller sphere is 575 cn?, find the surface area of the larger sphere,
. ®
o f = zalo©
| [ AU = Zf — - - }/VI/
M /
/
‘ —_— -7 //‘/‘ /

m‘QC( 5"9 @75@{:(7? X 5?—9 ‘
5/?‘5 NIINEN 5 A7

\I ] \
12. Work out the following using tables of reciprocal
significant figures | p s and squares leaving your answer to the nearest 4
13 4 ‘ (3 mks)
+— 4 -
0.947> 236 ! \

@472
126D /% - G4 j N
(o L
| 0>
Iy -9
o - /é(urg
O
'%Lr<5+oxcq@g\ -\
|

’H* QGLPL(_% -~ -




13. Using a ruler and a pair of compasses only,
10cm and PQ = 8 cm. Measure QR

p. ™

',_[\

h <RPQ =22.5°, PR =

construct a triangle PQR in whic 3 it}

oL ol

o ] YN

\

original number ) \increased by 9. Find the original number.
At ‘)@2 Y \‘nj
oot =12 '

oy +x) -(/mw\ﬂ =9
CYR —fox Yy = 9
Y- ~9

14. A two digit nﬁ)?/ls such that the sum’of i di\gits is 13. When the digits a%ﬂchanged, the

e

. (3 mks)

Y+ =3
% = 127
B= g

[Miabey= 67

15. By expressing numbers in tetms of their prime factors, solve the following without using

mathematical tables

3/675x135

J2025
CHS = cua
26 — 5 xZ

A0 20— 2 rs52

—~ .

D% 0 T
NEZE R

N2 F A5

(3mks)
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m .
kS 16. The densities of water and alcohol are 1 g/cm® and 0.8 g/cm’ respectively. If 3 litres of water 18
.added to 7 litres of alcohol. Calculate the density of the mixture (3 mks)

Volums 9 Wahr = Voo O (v

3
\/0‘ ;5 WLCULW( o= -] oV Ly

= O
mess 4| ol = ZeovX = 570

Neas( J% m(cotv/(: ’)o\w)(o'i{':g()\?\?j

hveeds d) hux v = § 6009

2

_ v oveo
\vol % puhor = 1Y
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d) Describe a single transformation that maps triangle ABC onto triangle ATBICH (2 mks)



\ 18, A straight line L1 has its x-intercept and y-intercept as

-6 and 4 respectively.

. . . — d t
a) Write down the equation of line L1 in the form ax+by+c 0, where a, b and c are Coastrink SS)
\j -
GG/ °) CD/ ¥ J,/o 3 v |
"
we 4= 3(-R =%
— L ”
Qs %B - z2XX y
- i 2 +3j —h U /l/
2] P A }
z '
b) Another line L which is perpendicular to Ly passes through P (2, 3K) and Q (-K, 8). Find the
value of K. (2 mks)
% -~ 3 g
K, =2
Em =~ 2(?—3‘4:) =2 3
My=- 3 lb—lag = = 2% ~f~
2

20 = ok

= 2,

¢) Find the equation of line L» hence find the point of intersection of lines L1 and La. (3 mks)

@,/- z)

m= -2 *%L’lo\j gjw(a];’o
24 - ! > 2\
475 : e
Lt Ll ] % 'Q‘qi’$° — &J: jo=15%
2
.y - Gl =
39’3)‘ 3(1+1> j —L\{- j:—ﬁ'—‘?s
L \3c = £
A:J"l(. X £ 5';/ . _ 9";‘% (D.%/ q_g)
2ytzz = o I g —_—
d) Calculate the angle which line L; makes with the x-axis \ (2 mks)
P
| Gv
5
33-69°
=




k i km. A submarine is station
i i 080° from a port A and at a distance of 95 km, tatione
P pﬁ) ; Brf\’];) W ;'bflairsuzgnszear ing of 200° from A, and a distance of 124 km Erom B.A ihlp leaves
att ZPO ‘ ‘girzcctly southwards to an island C, which is on a bearing of 140 from A. t .eht .
B ;?narnilr(l): zf D on realizing that the ship was heading for the island, decided to head straig ,
su ’ ’ ‘

island to intercept the ship.
a) Using a scale of 1 cmrep 10

and D. .

»

km, make a scale drawing showing the relative positions of A, B, C

(4 mks)
N

! ’ A e

P —F |
. >
b)/ Hence find: - | ~ “\.\ ) L
i) The distance.frpm_ AtoD N (2 mks)

- { \‘-\‘ Ve -

: PN

FExEes L, N\

= ok~ N

ii) The bearing of the submarine from the ship when the ship was sefting off from B.

0bo
—_—

iii) The bearing of the island C from D

l O

. . / - .
iv) The distance the submarine had to cover to reach the island C

) | (1 mk)
(1 mk)

(2 mks)

12-7 (o
(Y7 kny  FOho
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Ledisa and David wanted to build their parent house worth Ksh. 600,000.
inder in the ratio 3: 5: 2

\ iblings Sheila,
20. Three sibling ute half of the money equally and the remai

They agreed to contrib

respectively. o
a) pCalculate the amount of money contributed by each sibling

dheile - L,thhb ) Dw,l e 35! 2%
e a7 HoeS, 550

“- ) J v
hoiley = 2 Eeygee = A

(3 mks)

— lw v VG /
D“/".\ P }/.'9,\ (9, V0
b) Due to inflation, the cost of the house increased by Ksh. 120,000 before they could purchase the
construction materials. If the siblings decided to contribute the additional cost in the ratio of their
contribution, determine the additional amount contributed by each sibling (4 mks)
Dﬁwnl >7 ¥ 72‘)/0\50
= = I'F, oo
=R6, 00 L° .‘ | | oo (

N‘W ’)(Y\'Lu}. C\)*O,’D\I\)'r h’“' wo

L\\U(CL.: %x ‘n.u,mfl? zl{,‘l S v AR ‘,:-)_Lf_ Do v '11(
216,000 — 9,000 Z24, 090 | h
(
' v’
Lehse - ¢ ,
%X 71;’ QW:,BCWQ\Y\-) B ( /T\

{0, 0 ~399 y(D

7—@0\.’0

c¢) Water and milk are mixed in the tatio 2: 5 to form 350 ml of the mixture. If 30 cm® of water is

. added to the nﬁxuue;-calculate the new.ratio of water to milk ' (3 mks)
\(\l o = »'l ¢ N 4
e 6 X 359 "
=100 | g
M

New wehr = 190420 | l
:IZ&MI v

11 A"\

Nev Nako &y 2yzeag

127 Y v (O
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21. Students who sat for a Mathematics test were grouped by marks as shown in the table below
Marks 0<x<5 5<x<15 | 15=5x<25 25<x<45 | 45<x<75
No. of students 9 43 62 74 12

a) Estimgt& the Eex’m}rparks A [ (-4 = i (4 mks)
ﬁo—ﬂz'la 08 | r )(’9{
.{S"% }‘7’5’ 432 B
[ oy | = Lqor-<
[‘2‘ 45 26O
_]q‘h" 95
- Sl2 S
=

b) 1) On the grid provided, draw a histogram of frequency density versus class boundaries of the

data above.
Use scale of : 1 cm represents S units on the horizontal axis and

= 2 cm represents 5 units on the vertical axis (4 mks)
Conglor
I i L -
: 1 1
e
[ i} I3 I N
: R EEEEEEEESSEEEE
l . L4 : 1 i
[ : 1 IREEN
] i N
i [ 13 3‘
= -

B O O
]

44
W B O

[\
Ly =

Mok X -
ii) U.sing the area under graph, draw a vertical line representing the median mark hence state the
median mark from the graph (2 mks)
i &Adm 2 s

12




mmon diameter of the cone and the hemisphere is

* 22, A solid consists of a cone and hemisphere. The co
12 cm and the slanting height of the cone is 10 cm.

rrect to two decimal places:
f the solid

.

(3 mks)

a) Calculate co
i) the surface area O

VL

N> .
- ¥ e
S S v

e t2ie

gg 51 r2r6d) v “",

l,‘—ll,‘f.?(u.v"‘b v

(4 mks)

ii) the volume of the solid

Nolwme = ,é",Y,,L ty ﬁf5

T o
\/\ 5Jl01’6 H

w-iL = Yor v

L2y (.
SOt a7
A (1
q0l71 t¥s2 STV |
2
7 ;L’- - 28’ Cw l/ ‘ A
b) If the density of the material used to make the solid is 1.3 g/cm’, calculate its mass in kilograms
(3 mks)

donsty = I3yl
)3 60O ltjtlmﬁ- Vv » Iv;(

hes§ # Jms'bx vilyma
a2y Y1

o 000
(00O 30.7205’69—5 Vv ﬁ_’

|20V




- -S| 3 |\ (31 |%2
Y |3 -5 T 19 1 S |z

b) (i) Draw the graph of y =2x” + 6x — Son the grid given

i i mks)
i i i 1 cm for 5 units. €
i 1 cm for 1 unit and Vertical axis
Use the scale; Horizontal axis
7 oL - S
IJ
= :
-) p, 8
7! f
i 7 1 O \
v, 5 l
P
17 - I/ |
7 /
]
= EyEREREEEECAL 3 "”
S=Narinmsz ‘
%

(ii) On the sgme axes, draw liney=7x+1 ‘ (1 mk)
x) O\l
F)l‘\lni& 7

(iii) Determine the values of x at the points of intersection of the curve and the liney = 7x + 1

By 4 (2 mks)
A= -1T & x=2-

¢) Use your graph to estimate the value of 2x2 + 6x — 5=0

(2 mks)
Ll

L22] @ xzomb ™,

14
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L)

* 24. a) The figure below is a velocity time graph

y N

£ 80 :

= .

v ]

- :

) 20 24 7 x
Time (seconds)
Calculate:
i) the deceleration of the car (2 mks)
= = by
“ Y (
- ~-% 0 "
- 2“‘%‘ Y Qs )
Y 9 20wafc"
&ulw“"‘u M/S v Ink
ii) the total distance fravelled by the car (2 mks)
= A umd 11" 1
DR = | 7 xron ke n
14 (L) h L Ve
> yd =) bim
L (2\‘4!0 v | a

b) A car left Nairobi towards Eldoret at 7.12 am at an average speed of 90 km/hr. at 8.22 am, a bus
left Eldoret for Nairobi at an average speed of 72 km/hr. The distance between the two towns is 348

km.
Calculate:
i) the time of the day when the two vehicles met (4 mks)
'S = o ‘\"] - |
R.s= q Jpe—fo ¢
— 2Spzk~ = |
- %oX )k
p= 107% I ey M
= by s vimy
_ -
= 90 ¥, Hgh= "%
= l1o(km = %),L(S m
ii) the distance from Nairobi to the meeting place (2 mks)
)= o7
90 X 73 g
/ ~ 15 l
= i km ¥

7;0»1 Ub-rul't c 12C ,;—gpj (O

= VoKm -




